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5 000 quiz

gooooo.
W(m,t) = cos(Zz)(—n” cos(mt)) = 2*(—(%)? cos(3x)) cos(mt) = 22%@, t). (1)
guoooooooon.
f(0,t) = cos(0) cos(mt) = cos(nt). f(1,t) = cos(5 - 1) cos(mt) = 0. (2)
15 " f(xt=0)=cos(T/2) ———
1 fxt=12)=0 ,
f(xt=1)==cos(r}/2)
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6 000 quiz
U0 0<z<1,0<t<o0o U0, 00000000000
0*f _ 2 Of of I
W(m,t)—v '@(x,t)—aa(:c,t), v=1,c=27 (3)
goodd. ooobbo0o,000ogo
f0,8) = f(1,£) =0 (4)

gooboo.

1. f(z,t)=sin(rz)e™ 0,00000000000 @OO0000000,0000
@ 0000000000000,

2. 0z=0500 fO000000,00 ¢, 00 fO05,¢)0000.

3.00t=1.000 f0,00 2,00 f(z,1.0)0000.
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